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Fundamental Trig Identities Date Period

Use identities to find the value of each expression.

1) If sin @ = —0.93, find cos (9 - g)

3) Ifcos (6’ - g) =—0.52, find sin 4.
5) If sec @ =4.45, find csc (g — 49).

7) If tan @ = —0.87, find cot (% - 9).

9) Find sin @ and sec 8
if tan @ =3 and cos 0 < 0.

11) Find cos # and csc 6

if tan Qz—gandsin 0 <0.

13) Find cot @ and cos 6

if csc ngandcos 0 <0.

15) Find csc 8 and sin &

if tan Gz—gandcsc 0 <0.

2) Iftan (—0) = —1.48, find cot (g - 9).
4) If sin @ = 0.16, find cos (g - 9).
6) If sin (9 - g) — —0.22, find cos (=0).

8) Ifcsc (g - 9) =-1.11, find sec (—(9).

10) Find csc @ and sin &

if tan Hz%andsin9<0.

12) Find csc & and sec &

ifcot@z%andcos 0> 0.

14) Find cos # and sec &

if sin Gz—%andcos 0<0.

16) Find cos € and sec &

if cot 9:—%andcos 0>0.



Verify each identity.

17) sin Xsec X = tan X 1 1
) sin Xsec an 18) 3

sin Xcot X  cos X

19) sec? X — csc? X = tan? X — cot? X

20) csc? xcos? X = csc? X — 1
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1) If sin @ = —0.93, find cos (9 - g)

—-0.93

3) Ifcos (6’ - g) =—0.52, find sin 4.

—0.52

5) If sec @ =4.45, find csc (g — 49).

4.45

7) Iftan @ = —0.87, find cot (% - 9).
0.87

9) Find sin @ and sec 8
if tan @ =3 and cos 0 < 0.
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if tan Qz—gandsin 0 <0.
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13) Find cot € and cos 8

if csc ngandcos 0 <0.
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2) Iftan (—0) = —1.48, find cot (g - 9).

1.48

4) If sin @ = 0.16, find cos (g - 5).

0.16

6) If sin (9 - %) — —0.22, find cos (=0).

0.22

8) Ifcsc (% - 6’) =-1.11, find sec (—(9).

—-1.11

10) Find csc @ and sin &

if tan Hz%andsin0<0.
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12) Find csc & and sec &

ifcotHz%andcos 0> 0.
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14) Find cos 6 and sec &

if sin Qz—%andcos 0<0.
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16) Find cos € and sec &

if cot 6?:—%andcos 0>0.
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Verify each identity.

17) sin Xsec X = tan X

sin Xsec X Use sec X =

COS X
Sin X sin X
Use tan X =
COoS X cos X
tan X [ |

19) sec? X — csc? X = tan? X — cot? X

SeC2 X—= CSC2 X Use cot? X + 1 = csc? X

sec2 X—= cot2 X—1 Use tan® x + 1 = sec? x

tan® X — cot® X ]

20) csc® xcos? X =csc? X — 1

csc? xcos? X Use csc X =

sin X
2
cos™ X Cos X
Use cot X =—
sin? X sin X
cot? X Use cot® X + 1 = esc? X
cse? x—1 [ |

1 1
18) — =
sin Xcot X  cos X
1 cos X
—_— Use cot X =—;
sin Xcot X sin X
sin X
- Cancel common factors
SIn XcosS X
1
| ]
COS X
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